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N T T A BRI SR B AR 7
% g B - BKSTE B =S i ® 8B B =

EENER 4,687, 781
HRER 4,687,781 x T71.8% — 3,607 3,362, 219
AEEER 4,687,781 + 3,362,219 8, 050, 000
FEE T 8, 050, 000
HEREELE 8,050,000 x 10.00% 805, 000
AEERE 8,050,000 + 805,000 8, 855, 000
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% 3 B - BKSTE B B = B ff ® B wmE

EZAIEE 4,687, 781
FEE 3] 4,687, 781
B AEER R 4,687, 781
B AEER R 4,540, 381
B2 21 463, 792
1 RS E 1.00 463, 792 463, 792

=
RTKGNSS:BI = 3,171,726
2 RTKGNSS:HI = 138.00 23,027 3,171,726

o
KERA=E 132, 315
3 fkErAl= 2.90 45, 626 132, 315

km
AR 766, 548
4 EEER 1.00 766, 548 766, 548

=
EiERE 110, 000
AR 110, 000
EX:TET 1.00 110, 000 110, 000

=
HRiTERE 37, 400
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£ b3 R - BIRTE B 2 -] ] = w =
B8 EHER
A 2.00 51,000.00 102, 000
B = HER
A 5.00 44, 000. 00 220, 000
B S HEmw
A 4.00 34, 300.00 137,200
HAH Lz N0V
% 1.00 459, 200. 00 4,592
& g 1EZEHEH - 1.00=K 463, 792.00 463,792
&S5 :2
25 : RTKGNSS:AI £ 1HmHY
£ fui R - BIRTE B = -] i = w %
RBE 54 /x> 2L
H 0.04 3,252.00 130{2. 00H / 8H
R@Efm FRP D 70PSZ! 3.0t
S| 0.04 70, 885. 00 2,835|8H
B8 EHER
A 0.04 51,000.00 2,040
B = HER
A 0.08 44, 000. 00 3,520
HEBF
A 0.16 32,200.00 5,152
BEMHEE
A 0.16 27,000.00 4,320
BIEHEH RTKGNSS
S| 0.04 88,110.00 3,524
HAH Lz N0V
% 7.00 21,521.00 1,506
& B YEEREH : 1.004h = 23,027.00 23,027
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BFF : HEETEIE 1B&HY (4.8km)
£ Lz HE - BKTE By = B %8 W E i &
RBE 54 /x> 2L
S| 1.00 3,252.00 3,252|2.00H / 8H
R@Efm FRP D 70PSZ! 3.0t
S| 1.00 70, 885. 00 70, 885|8H
b:lf=$52:0]
A 1.00 44, 000. 00 44, 000
= B Eh e
A 1.00 34, 300.00 34,300
eSS
A 2.00 32,200.00 64,400
MM 2 0%
% 1.00 216, 837.00 2,168
& B 1EXfEHN : 4.80km 45, 626.00 219, 005
BS54
£ RESER X%y
£ [z HIE - BKTE By = B % W E i &
BIEF A
A 2.00 51,000.00 102, 000
b:lf=$52:0]
A 4.00 44, 000. 00 176,000
= B Eh e
A 4.00 34, 300.00 137,200
eSS
A 6.00 32,200.00 193,200
HIEHBE
A 4.00 27,000.00 108, 000
MM 2 0%
% 7.00 716, 400. 00 50, 148
& g 1EZEHEH - 1.00=K 766, 548. 00 766, 548
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ES:5
L EBRER B
2 7 B - MIRTE B f B B # w =
EBRERE
= 1.00 110, 000. 00 110, 000
& it 1E¥8EH : 1. 00X 110, 000. 00 110, 000
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&% BIEERE B
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BIEERAE
= 1.00 37, 400. 00 37, 400
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No. % R Bg - MARTiE B B Bl (H) | X AfEiNo. Hifi& % HBRBRE - BIRTiE
1 XBEE 54 kN2 2 2|RTKGNSS:AI =
B 3,252|2.00H / 8H
2|3 E FRP D 70PSZ! 3.0t 2|RTKGNSS:AI &
B 70, 885 8H
3| ZEE S4 kN2 2 3 | it b R 2=
B 3,252|2.00H / 8H
4| 3@ M FRP D 70PSZ! 3.0t 3 | it b R =
B 70, 885 8H
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4 L] I - K& By B = fii L & i &
AV
L 6.00 146. 00 876
B (54 bV [ZEHEES]) REFTEE HK=E2.0
BFFE 2.00 290.00 580 12 B R
B (54 bV [ZEHEES]) REFTEE HK=E2.0
S| 1.19 1,510.00 1,796 HEH
& Hi 3,252
HifiRES : 2
BiffiR &% : @M FRP D TOPSE! 3.0t 8H
£ [z HE - BKTE By H = {ii %8 & i &
FihA
L 30.00 98. 00 2,940
EikmE
A 1.20 27,900.00 33,480{ B3 =1.20
EH (EMmFRPE]) D 70PSE! 3.0GT
S| 1.00 3,200.00 3,200 EELH
EH (EMmFRPE]) D 70PSE! 3.0GT
S| 1. 65 3,350.00 5,527 a=1.65 HEH
RIZEEE
% 25.86 45,147.00 11, 675
—REEE
% 24.75 56, 822.00 14, 063
& Hi 70, 885
HifikES :3
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AV
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